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| \ 2/ A-SECTION - Il
\ ENGLISH (COMPULSORY)

Answer the questions (from Q. No. 21

to 30) as directed choosing the correct

alternatives given :

21 He had to go away to answer a

phone call. The correct pronunciation

of “phone” is

@D [faun|

(B) [f5>:n

(C) [fon)

(D) [fan|

22. When he came back, he said to his

son, (Complete the

sentence with the correct alterative)

(A) “You have taken the banana ?"

“Have you taken the banana ?"

(C)” “You have been taken the

banana ?"

(D) “You are taking the banana ?”

23.  The son said that

(Complete the sentence with a

JP = 1D/100

(6)

24.

25.

urm-nrrm“':#’”? accaeptable alter-

nativer)

/(A)f?; he had taken the banana
(B) hehas taken the banana
(GF hewas taken the banana

(D) he had been taken the banana

Father asked, “Have you eaten the
banana ?

(Fill in the blank with the correct

alterative)

(A) hole

®) whale

(D) while

‘I have its seed away."
(Use the correct word)

(A)/ hrown
(B) threwn
(C) throw

(D) threw

(Continued )
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26. One day a young boy was suffering

fever. (Use the correct °

preposition)
(A) with
(gj from
(C)
(D) by
27, Histemperanue____(rrmre)

by his father. (Use the correct verb

form)
(A) was measure
(B) was measurement

was measuring

.was measured

28. Father gave him a pill and said, “If
you take it, you will recover soon.”
The word underiined can be replaced
by
(A) come away
(B} come off

(©) comeroums

(D) come about

JP=1D/M00
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29. The boy said. “I shall not take it if

(Complete the sentence with correct

alternative)

@ it does not taste sweet
(B) itwill not taste sweet
(C) itshall nottaste sweet

(D) itcannottaste sweet

30. Father hid the pill in a ripe banana
and _______ (give) it to his son.

(Use the correct form of ‘give’)
(A) wasgiven
(B) gives

(C) wasgive

@ gave

Read the poem carefully and answer
the questions (from Q. No. 31 to 35)

choosing the correct alternatives
given :
When wars and conflicts totally cease,

In-ourworld, there shall be peace.

People must learn to get along,

(7) (Turn over)
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Not blame others, for being wrong (B)  blame othars

& o hight
They fight tor control, fight for land, (&) 107

(1) 1o love wa
Some just need a helping hand

33 The poet highhghts need for
We must rid ourselves of vanity,

And embrace peace, through humanity.

. (f¢- vanily
Wars make children so much tougher |
(B) wa
" Lose theirinnocence, while they (G control
sufter. ((D)] peace

We should fight for peace instead, 24, What-dh hiidren lose because of

Love not war, we should spread. wars ?
31. There will be peace in the world (A) loughness
when (B) control

(C)-Jinnocence

®

(A) . We fight for control

(D) dreams
Wars and conflicts cease

35. ‘cease’ in the first stz
(C) We fight forland st slanza means

(D) We quarrel with others
@' stop
32. What does the poet want people to (B) continue
learn ? : (C) lose

to get along with others (D) win

JP - 1D/100 ‘ : (8) (Continued )
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Read the passage carefully and
answer the questions (from Q. No. 36
to 40) choosing the correct alternatives
given :

Money is the key to human
happiness. People slog at work to earn an
income to enable them to buy food to the
table, clothe themselves as well as build a
dream house of their own. It is a means to
access a decent lifestyle. Money is badly
necessary at the time of distress due to
disease, accident or natural calamity. Many
parents work hard so that they can provide
comfort and stability to their children. Many
families struggle to make ends meet and
millions live in misery due to poverty. They
are deprived of happiness, dignity and a

sense of direction in their lives.

36. What can people buy with money ?

(A) sweetdreams

food, clothes, shelter

(C) sound sleep

(D) peace

JP = 1D/100
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37.  Why do parents work hard ?
(A) for their own pleasure
(B) tobefamous
(C) forfun
@}for their children
38. Poverty is the cause of
(A) happiness
(B) dignity

@ misery

(D) asense of direction

39. Which is oppasite in meaning to

‘comfort’ ?
(A) uncomfort
@ discomfort
incomfort

(D) miscomfort

40. The word ‘badly’ as used in the

passage means

(A) hardly

(B) never

@very much

(D) notatall

(9) _ (Tumn over)
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B - SECTION - 1lI
ARTS GROUP
ODIA (OPTIONAL)
41. “IPY SRIRE 72T TLe (B8) =afacle agl
0T AT T, (C) AIe QG ag!
2280 219 PR A 25
g% 217 P9 Qe (D) daoia ogl
973, 6icd 2EIe” — 421 694
~ 44. G679 4G 6QWE TR 672
BU5D 09 7
(ARINGS Rl 7
(A) weaa
(C) con@ (B) " @imaid
(D) oReeR
(C) goga
42. "3 9964 , AR 719 918 289! |
(D) 9o 9Gaa
cwiee o8 A9 2801 G0g wOF QIR
@0 17 —40K6 6w ZerRe gge 7 | 49 REYQ QI0 U, Q699 aaIIER
A) @Q6qal 3 -
(A) @9693 U@y 629 | — 60SIFE 2°68 6oa
(B) HGsow
) geIR ZNG 90 7
(C) waa
(A) Q6P AL
(D) qeoe
' (B) Feaiee 2w
43. ‘Soner’ — IRIG LPUIEH gRIE Q6w 1
6620 9 (C) RNIeR 2yg
A) elion ogi (D) Resuide Aeg,
JP ~ 1D/100
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46. geiel + 2 = QIS 1 90166 6QW B6R

47.

48.

‘° goys: 6018 ?
(A) RS U
(B) RUQIER
(C) anafiEea

(D) Q°6QI9 2el6eq

‘QUE’” SIRER 6RQ YOI YYD ?

(A) @

(B) ae

(C) a4l

(D) ag

“gead 6g416a adal, AIg O aIfal
QIE 1”7 — 2| 662 IR QIR ?

(A) <o

(B) edld@

(C) «de

(D) &g

JP - 1D/100
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49. 669 FRIQ 6906 g8 99 ?
(A) g9a
(B) @6@e
(C) Qoge
(D) agd

50.

51.

(11)

‘18’ 909 ARGER @ER @4

62Q ?

(A) 9 + A
(B) €9Q + aa
©) @9 +a@

(D) Q@Q + 4

URNIQ FRRQ UGT | 6a%IFE 2SS
69Q QIR ?

(A) @E

(B) @&

(C) @R

(D) Qg
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52. QUIR S9Q DIGAINY OGS 6Q6M | —
couiiGo ATRER 6aN Gt {9 CHIRkR 7
(A) Gl
(B) <Qa
(C) «zen

(D) <ge

2g6g@d O g4 8° 87 Q U8R & :
camaarer 2pdlg | 9% ARARA
QeI 2ggIde 621a 6AAIER QU6
Q28 | AR APARIR 6AAIRER FJR
QEy | 92 Qe € 6AMPRAey G
QIFI68 650l 6QR2IIN | 6RITIORIA 9Q°
MY AR VAR 9Q6R QR
699116@ @Iy QRIS | AUIERRER
64FIIER 2Ine QUERIS QF | @9
LI 6QATIRG J98 RINGI YRR
ERIRNEIN | UQY Tel6Q AFIIR 6REREIER

6QAIRE 8@ QA 6QQREIN | AR

Q162 64 6QQ G6QWE AFIeQ

53.

55.

- (12)
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aaauiaey 2146, QQH?Qﬂ W,

e geeaqn @ eAmA@AST @G

Qol@lol |

campanIawolg dele G GIEwAdl

26l @66 7

(A) epadd

(B) 4R AGANT
(C) @R adewlel

(D) QFQUIQ 2Ig AENUIR
‘Gz Aea (e’ — gaee 28 @6 7
(A) ARV AL

(B) gmu@e @l

(C) 29a9 AR 62

(D) 2@ ggal

‘MY’ — IR 6QQ UAILR 196 ?
(A) ©QYQs

(B) g

(C) eduag

(D) <@
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[ B-SECTION-II |

ARTS GROUP

ENGLISH (OPTIONAL)

Read the poem carefully and answer
the following questions (from Q. No. 56
to 58) choosing the correct alternatives
given :

57.
Our environment, keeps us alive,

We must protect it, for society to thrive.
Creates oxygen, that we all consume,

What's more pretty than a flower
in bloom ?

We must combat deforestation,

. : : 58.

Itis the duty of every single nation.

Let's begin, by fighting pollution,

Think together, to find a solution.

56. We should protect our environment

because

(A) We can enjoy life.

JP - 1D/100 - (13)

(B) Itkeeps usalive

(C) ltis not helpful for us,

(D) Itgives us flowers.

What is the duty of each and every

nation towards environment ?

(A) toconsume oxygen

(B) - to protect society

(C) toremove poverty

(D) tofightenvironmental pollution

What is opposite in meaning to

‘create’ ?

(A) destroy

(B) make

(C) originate

(D) give

(Turn over)
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Answer the questions (from Q. No. 59
to 67) as directed, choosing the correct
alternatives given !

59. Dark clouds covered the sky. (The

passive form of the sentence is
—)
(A) Dark clouds cover the sky

(B) The sky was covered with dark

clouds

(C) Dark clouds are covered the

sky

(D) Dark clouds covered the sky

60. Loud thunder rent the air. (The correct

pronunciation of ‘air'is — )
(A) leid:]

(B) leal

(©) leia|

(D) |ea|

JP - 1D/100 ' (14)

61.

62.

63.
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(sET-D ]
A sudden rain soaked
the pitch. (Use the correct
grammatical option)
(A) lashed the stadium
(B) who lashed the stadium

(C) thatlashedthe stadium

(D) whom lashed the stadium

a

Players left the field

hurry. (Fillin the blank with the correct
preposition)

(A) in

(B) on

(C) at

(D) to

The match was postponed. (Choose

the phrasal verb for ‘postponed’)
(A) puton
(B) putoff

(C) putout

(D) putup

(Continued )
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64. The method of teaching English

65.

adopted at present in school

curriculum is

(A) Formative Correlational
Approach

(B) Functional Communicative
Approach

(C) Function Corrective Approach

Figurative Comprehensive

Approach

Direct Method is also known as

(A) Natural Method
(B) IndirectApproach

(C) Inductive Approach

(D) Allofthe above

JP - 1D/100

(15)

67.
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66. Language acquisition occurs only

when (Fill in the blank
with the correct alternative.)
(A) the child is taught the rules of

grammar

(B) the child has exposure to the
language
(C) the child is given a reward

(D) the child absorbs the language

without conscious attention

Grammar-Translation Method does
not (Fillin the blank with
the correct alternative)

(A) encourage learning through
mother tongue .

(B)

give importance to grammar
(C) enhance a student’s communi-
cative skill

(D) enable the student to use the

language fluently

(Turn over)
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Read the passage below and answer
the questions (from Q. No. 68 to 70) that

follow choosing the correct alternatives
given:
Money has become the centre of all
activities in modern life. Now people are
famous in terms of their ranking in the list
of the rich in the world. Acquisition of
money is a poor man'’s dream. It is a rich
man’s reality as money begets money. Of
. course, money is important. But excessive
love for money brings in the misery of King
Midas, who suffered untold woes for his
greed for gold. Money is a good servant
for those who use money to make their

ends meetand a bad master for those who

earn money just for amassing huge idle

wealth.

JP - 1D/100

(16)

68. Whatisapoorm

69.

70.

ﬁﬁﬁﬁﬁﬁﬁﬁﬁ W

TET - P-/18

an’'s dream ?

0SS

(A) tosq uander money
(B) lo spend money

(C) acquisition of money

(D) towaste money

What does excessive love for money
resultin ?

(A) misery

(B) happiness

(C) comforts

(D) reality

The meaning of ‘huge’ in the passage

is

(A) small

(B) short

(C) little

(D) vast

{ Fﬂnl.:__ .
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72

73

74

JP - 1DM100
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SET-D
8 B - SECTION —lli
ARTS GROUP

HISTORY & POLILTICAL SCIENCE

Which highest gateway of India was (B) Calcutta
i 7
buiit by Akbar * (C) Wardha
(A) Amarsing Gate (D) Delhi
(B) DelhiGate
75 Who did represent italy in the Paris
(C) Buland Darwaza
Peace Conference ?

(D) Lahore Gate

Who was the author of Hindi poem

Chaurasi Vaishnava Ki Varta ?
(A) SurDas
(B) NandaDas
(C) TulsiDas

(D) Khumban Das

Which was the first newspaper
published in India 7

(A) The Calcutta Gazette

(B) The Bengal Gazette
(C) The Madras Courier

(D) The Bombay Herald

Where was the Quit India Movement
Resolution passed by the Congress
Working Committee on 14th July,
19427

(A) Bombay

76.

77.

un

(A) Lloyd George
(B) Viterio Orlando
(C) Clemenceau
(D) Woodro Wilson

Which countries did form the Triple

Alliance on the eve of First World
War ?

(A) Germany, Austria, italy

(B) England, Russia, France

(C) Germmany, ltaly, Japan

(D) England, Japan, Austria
“People exist for the state not the

state for its people” — whose

statementis it ?
(A) Mussoline
(B) Churchill
(C) Hitler

(D) William i

( Tum over)
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78. How many Electors are required to 82. When was the Taskent Agreement

propose the candidature for the signed 7

office of the President of India ? (A) 1948

(A) 30 (B) 1966

(B) 25 (C) 1972

© 20 (D) 1999

e 83. Where is the Kalinga Rock Edict of
79. When did the UN come into Asoka found ?

existence officially ? (A) Allahabad

(A) 28June, 1919 (B) Mansera

V10 et (C) Girnar

(C) 16June, 1945 o Sugada

(D) 24 October, 1945
84. Who did preside over the Kanauj

80. WhichAtrticle of the Constituti
Eahetomtinchtses Assembly in643A.D. ?
provide for the formation of an

Election Commission ? W) Fatien

A) 322 (B) I-Tsing

B) 323 (C) Hiuen-Tsang

(C) 324 (D) Harsha-Vardhan

(D) 329 : 85.  Which is an architectural monument
81. Who is the custodian of the Indian ofKushanaAge ?

Constitution ? (A) Monolithic column at Rumindei

(A) Parliament (B) Rock-cut sanctuary at

(B) President Sitamarhi

(C) Supreme Court (C) Relictower at Purushapyr

(D) Prime Minister 7 (D) Dhamek Stupa at Saranath

JP - 1D/100 Sl )
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86. Which bird sanctuary in India is

87.

88.

89.

famous for Indian Bustards ?
(A) Bharatpur

(B) Kumarakom

(C) Kutch

(D) Vedanthangal

Which among the following steel
plants in India is 2 major producer of
world-class stainless steel ?

(A) Bokaro

(B) Durgapur
(C)
(D) Vishakhapatnam

Salem

Graphite : Diamond :: Granite :
?

(A) Gneiss

(B) Marble

(C) Schist

(D) Slate

Which pressure belt on the globe is
otherwise known as the Horse
Latitude ?

(A) Equatorial Low

(B) Sub-tropical High

(C) Mid-Latitude Low

(D) PolarHigh

JP ~1DNM00

80.

1.

92.

(19)

Which among the following ocean
currents is different from the

other three in terms of its thermal
property ?

(A) Canaries Current

(B) Florida Current

(C) Guif Stream

(D) North Atlantic Drift

A map bearing the scale “1cm equals
to 10 km' is reduced by four times of
its area. What is the ‘Representative

Fraction’ of the new enlarged map ?
(A) 1:5,00,000

(B) 1:10,00,000

(C) 1:20,00,000

(D) 1:40,00,000

How many parallels of latitude can be
drawn on the globe at an interval of

10 minutes ?
(A) 1078
(B) 1079
(C) 1080
(D) 1081

(Turn over)
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93 In respect of which of the following

96.

JP ~ 10100

demographic features does Odisha
have a better position than India as
per the Census, 201 1 estimates ?

(A)

(B)
(C) Male-Female Ratio

Decadal Growth Rate

Literacy Rate

(D) Population Density

“In India the rich are getting richer
while the poor are getting poorer”.
Which of the following causes of
poverty is primarily responsible for
this ?
(A)
(B)
(C)
(D)

Growing indebtedness
High growth of population
Low level of income

Unequal distribution of land and
other assests

Which type of inflation does appear
in an economy when money supply
exceeds the available goods and
services ?

(A)
(B)
(C)
(D)

Cost-push inflation
Credit inflation
Deficit induced inflation

Demand-pull inflation

The short term borrowing rate at
which the Reserve Bank of India
borrows money from other banks is
known as :

(A) Bankrate

(B) Callrate

97.

98.

99.

100.

i €80)

ogg'r ~ P-1/118

(C) Repo rate

(D) Reverse-repo rate

followind concepts does

hich of the ]
Wi r the im-

address the concern ove
pacts of expanding human develop-

ment onthe planet earth ?

(A) Free market economy
(B)
(©)
(D)

Resource consumption

Steady-state economy
Unlimited GDP growth

Which among the following passes
is located in @ mountain range differ-

ent from the other three ?
(A) Bhorghat

(B) Melghat

(C) Palghat

(D) Thalghat

Which among the following streams
belonging to the Ganga drainage sys-

tem does flow through a rift valley ?
(A) TheBetwa

(B) The Chambal

(C) The Damodar

(D) The Son

Which areain India does get rainfall in
winter due to westemn disturbances ?

(A)
(B)
(©)

(D)

The Deccan Plategy
The Kashmir Valley
The Malabar Coast

The Sundarbang

f nf\nl.!__ O
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An object is placed perpendicularly
to the axis of a concave mirror 5o that
the image formed is erect and mag-
nified. What is the position of the
object in front of the mirror 7

Between its pole and focus
(B)~ Atits focus

(C) Between its focus and centre of
curvature

(D) Beyond its centre of curvature

A 2uF capacitor only is connected to
the terminals of 220V a. c. soruce of
frequency 50 Hz. What is the
reactance of the circuit ?

-3
(A) brll ";0 Ohm

3
5x%x10 Ohm
T
(Gy” 5nx 10° Ohm
(D) 5mx10”>Ohm

A charge of 0.2C moves with a
ve|ocity7 = (3? + 4f)mls in a uniform
magnetic field of B = 5 kT. What is
the magnetic force experienced by
the charge ?

A) @i +3)N

JP =1D/100

44,

45.

(21)

~ A ’
my, (41 -3 )N
A i’
(C) (3)-41)N
f- '
(D) (~4i-3)N

Assurne that the semi major axis of
Jupiter is half of that of Saturn. [f the
time period of revolution of Jupiteris
taken to be x years, what will be the
time period of revolution of Saturn in
years ?

(A) 2x

@2«[2_)(

() 3x
(D) 3/2x

A projectile is projected with a speed
of 10 m/s in a direction which makes
30° with the horizontal. Another
projectile projected with the same
initial speed from the same point but
in a different direction, covers the
same horizontal range as the first
one. Then what is H_ - H2, where
H, and H, are the maximum heights
to which the first and the second
projectiles rise ?

A1
B) 1:2

@3

(D) 1:4

( Turn over)


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

46. A hollow spherical shell of radius

47.

48.

@

49.

JP-

40 cm contains two point charges 3q
and — 3q placed at points separated
by 30 cm inside the shell. Whatis the
flux of the electric field due to the
charges through the surface of the
shell ?

“Zero
3q/e
(C) 6ale,
(D) aq’e
(Where €_ is the permittivity of air)

Which physical property of the
geostationary satellite is common
with that of earth ?

(A) Linear velocity

(B) Linearacceleration

@ Angular velocity
(9)/ Angular momentum

A coil of area 06m? is placed in a
magnetic field of 1T such that
maximum flux is linked with it. When
the coil is rotated for 0.15s the flux is
reduced by 25%. What is the
instantaneous induced emf in the
coil ?

(A) 0.15V

ey 1v

In the given wave equation

(B) 0.60V
(D) 1.5V

y = 60 sm—— (6t — x), what are the

values of wavelength and frequency
respectively if all the quantities are
expressedin S. |. system ?

(A) 3,2 ® '2 3
@5-1 D) 1,6
1D/100

: _(22)

50. A straight wire of length { carries

current 1. When it is bent into a

circular loop of radius f; the magnetic

field at its centre is B. If it is bent into
a loop of two turns the magnetic field
eis B Then which of the

at its centr

following re!atlons is correct ?
=B

B B1=% ®) B1"/2

(©) B1=B (D) B1=4B

51. An electric bulb rated 200V and
100W is connected to a 160V power
supply. What power will be consumed

by the bulb ?
.64W (B) 80W
100 W (DY 160W

52. The radius R of a soap bubble is
increased to 2R. What is the
percentage change in the excess
pressure inside the soap bubble ?

(A) 100 (B) 75

Br O

93. A copper wire is of the same length
but double the diameter of a steel
wire. Both the wires hung from the
same roof are stretched by the same
stretching force. Af and Y are the

@Iongatlon and Young S modulus of
copper respectively wheregs AE
and Y are the same for steel
IfY, = 5Ys then what is AL/ AL ?

(A) 0.125 (B}~ 0.50
(C) 1.00 (D) 2.00

(Continued )
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54 A steel ball of radius 4 cm has a
mass of 1 25 kg in air. When weighed
inside a liquid its weight becomes
BN What is the force of buoyancy on
the ballifg =10 m/z ?
(A) 156N (B) 36N
(C) 4N ((0)34 5N

55  What i1s the name of the process
involved in the sound wave
propagation in air ?

(A) Isothermal (B) Isochoric
(E(:)j Adiabatic (D) lIsobaric

56 The relative velocity of B with respect
to (w. r t)Ais 30 cm/s due north and
that of C w. r t. B is 30 cm/s due west.
Then what is the relative velocity of
CwrtAincm/s?

O 30v2 in north-west direction
(B) 30v2 in east-north direction
(C) 15v2in north-west direction
(D) 15v2 in north-east direction

57. Asleeping dog starts running with a
uniform acceleration of 2m/s’ when
a rabbit crosses it in a straight,
narrow passage. It catches the rabbit
after covering 36 m. What is the
distance covered by the dog in the
last second ?

(A) 25m  (B) 13m
1m - (D) 06m

JP ~ 1D/100
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58 What is the minimum distance
between an object and s real iImage
formed by a convex lens of focasl

length {7

(A) Zero
(B) - 2f

(©) 3f

©)

59. In a Young's double slit experiment

o =497 ("™ %)

where | stands for the intensity of the
interference pattern. What is the
ratioof| : 1 wherel and| stand for
a b a b

the intensities of the coherent
sources a and b. Assume thatlarv Ib:
(A) 2:5 B) 5:2
((;)1*4:25 (D) )25:4

60. The -ve and +ve charges of a
dipole of moment p are placed at
points - ta and + ta The electric field
intensity due to the dipole at the point
located at ?y inairwherey >>ais:
A planey’

—FI 41:eoy3
(©) pl2ney’
©) -p'l2ney’

(23) (Tum over)
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(B - SECTION -1l
SCIENCE (PCM)
CHEMISTRY |

.

e equilib-
61. lcefloatsinwater Thisisduetothe | 64. IfK, and K, represents the €q

: and
presence of : rium constants of the forward

(A) lonicbond backward chemical reactions re-

(8) Covalentbond spectively of a particular reversible

(K(’a-‘,\*tntennolecu!ar hydrogen bond reaction then :

N -
(D) Intra molecular hydrogen bond A) I(f Kb

1

82. 100 miof 1 N NaOH solution, 200m| (B) JK:=
of 0.5 N NaOH solution, 500 mi of
(CL-K >K,
0.1 N NaOH solution and 200 mi of
0.25 N NaOH solution are mixed (D) Kf< Kb

together. The normality of the result- 65. The purestform of iron is -
ant solution is :
(A)"Pig iron

(A) 0.1
(B) Steel

(B) 02
@Wrought iron
@

(D) 04 (D) Castiron

. Whi :
63. The pH of 0.01 M acetic acid with | - '1on ofthe following ores does not

degree of dissociation 0.001 is - Conamsuipriar 2

(A) (A) Argentite
B) 4 | @assiterite
3 e | (C)- Cinnabar
@ 2 G (D) Galena

JP - 101100 7 e (24)
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67. The most stable carbanion among
the following is :

&)
CH,~CH,

(A)

(B)

O C A
(©)g0 (o

v

(€)

O
@I@

@)
O

Hy

e
CH,

NO,

68. The [UPAC
compound having the formula
CHy
CH3-C|}— CH=CH, is:
CH;

name of the

(A) 3,3, 3trimethyl propane
(B) 1,1, 1trimethyl-2-pentene

@ 3, 3 Dimethyl-1-butene

(D) 2,2Dimethyl 3-butene .

69. The hydrocarbon which is formed by
only single covalent bonds between
the atoms is :

B

- o A P . (95\

FRESHERS NOW
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(B) CSHG
(C) CSHB
(D) C,H,

70. The correct order in which the
following compounds are arranged in
order of increasing acidity is :

@Methyl alcohol ( Phenol (
p-nitro phenol

(B) Methyl alcohol { p-nitrophenol (
phenol

(C)~p-Nitrophenol { Methyl alcohol
{ phenol

(D) Phenol { Methyl alcohol (
p-nitrophenol

71. Oxidation number of sulphur in
sodium tetrathionate is :

A +2
+2.5
(C) +3
Dy +6

72. Ifthe molecular weight of KMnO , is
‘M’ then the equivalent weight of

KMnO 4 in the reaction :

KMnO4 + HZSO‘4 + H20204 —_—

—K. SO +MnSO,+CO_+H Ois:
2 4 4 2 2

_’!

5
® %5
© 3
© 5

{ Tum over }
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73

74

75.

76.

JP -

[ he volume of CO_ at NTP obtained
by complete dm:nl-n;'umumr| ol 1gm
of marble s
(A), 2241
(B)r 2241

((€)) 02241
(D) 002241

The density of a gas is found to be
1.56 g/hitre at 745 mm pressure
and 65"C

1) I8

The molecular mass

(g mol
(A) 221

Qﬂ))«.z
(C) 663
(D) 884
If rate of diffusion of O, is 1 then
under similar conditions of lempera-

ture and pressure the rate of ditfusion
of 802 is:

(A). J2r,
B I
QF;
(C) 2n
]

2

The number of unpaired electrons
present in Cr>*

A 1

(B) 2

(D)

1D/100

(26)

7

78

79.

80.

0SSTET ~ P-II:IB
(SET-D )
((f, ) 3
() 4
The set of quantum numbers (n, £,m
and s) that represent valency electron

of sodium is
3.2, 1.+ }
1
3.2. 0.+ %

(A)
(B)
©) 3.1.1,-2

((0) )3,0,0.+

The correct order of electron affinity
of the following elements is :
(("A;;)N <Q<F<Ct

(B) O<N<Ct<F

(C) N<Ct<O<F

(D) N<O<Cé<F

The correct order of ionisation poten-
tial of the following elements is °
A) C<N<QO<F

BY C>N>0>F

"T)C<O<N<r

(D) C<O<F<N

The d-orbital that participates in dsp?
hybridisation with trigonal bipyramidal
geometry is :

dzz
(B) dxy
(C) dx’-y?
(D) dxz

( Continyed )
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81.

82.

83.

If Gis a group, thenforeveryae G,
what is (al““)”1 ?

B) 2a ¥

() a~
(D) a

Ify= cos(xz), then what is the
derivative of y with respectto x ?

(A)  sin(®)
(B)
(C) 2xsin(x)

—2x sin(x)

What is the value of K, if the function

— sinx® \

Kx2 |, x2
4

1. )
is continuous at
X <1

f(x)= {

x=17?

(A)1

B) -1

(])4

(D) -4

84. What is the value of 2% 4 42+6%+

(A) 770 |
(B) 1155

JP = 1D/100

@’1540
(D)

385 % 385

85. Whatis the value of e correct upto 2

places of decimal ?

(A) 172

2.72

(Cy 372
(D) 4.72

86. Ifthe slopeand x-intercept of the line

3x—y + K =0 are equal then whatis

the value of K?

(A) O

® -1 4
(C) 3

-9

87. What is the equation of a circle
whose radius is 4 and which
is concentric with the circle
2 +y?+2x—6y=07
(A) P+y?+6x—-2y+6=0
B) X2 +y*-2x+6y=0 [

@(2+y2+2x—6y—6=0

(D) x> +y*+2x+6y+6=0

(27) ( Turn over)
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88  What is the distance of the plane

89.

80.

91,

2x—y + 2z +1=0from the origin 7

A coin is tossed three times. What is
the probability of getting at most 2
heads 7

2 37
(B)
(&)

D)

W= | |

What i thF median of the scores
2§.é. 8, 12, 20, 29, 30, 31, 29, 33,
16,187
(A) 20
(B) 22

23

( 24

If ot = 2 tanP, then what is the value

e .

cos(a + B)
» 2 |

of

JP - 1D/100

(28)

92.

83.

n .
If tan”'x + tan’1y =2 then what is

the value of x +y + xy 7
(A) 0
By )1
€ -1
(D) 2
The volume of a solid circular cylin-

der of height 16 cm is 2464 cubic cm.
What is the radius of its base incm 7

(take = %?- )
(A) 28
\

(B) 21
(C) 14

7

94. Acircleis inscribed in an equilateral

triangle. if the side of the said triangle
is 42 cm, then what is the area of the

circle insqcm ? (take n = _273)

(A) 362

@) 462

(C) 154
(D) 2848

(Continyed )
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95 What is the value of the determinant

X a x+4

y b y+b,
z ¢ z+t¢c

A) 3
B) 2
(c) 1

@

06. LetSetA={1,2, 3} Define arelation
RonAasR={(1,2),(2, 1)}, thenwhich
of the following relations is true ?

fi):,‘ ymmetric but neither reflexive
nor transitive \

(B) Reflexive but neither transitve
nor symmetric

(C) Transitive but neither reflexive
nor symmetric

(D) Reflexive and transitive but not

symmetric

97. Iff(x)is an invertible function, what is

7 (x) if f(x) =

5
3x -2
(A = \
3x+2
B
(B) 5

JP - 1D/100

OSSTET - P=t/t8

5x + 2
@ 3

‘5x - _2

)

98. What is the number of subsets of a
set containg 5 elements ?
(A) 4
(B) 8 !
(C) 16
G
99. If|x|<5,thenwhich of the following
is true for x ?
(A) Onlyx<5
(B) Onlyx>5

@—5<x<5

(D) -5<x<5

100. If . and B are two roots of the
equation 3x% +5/5x-4=0,

then what is the value of o [32?
AXT5

16
®

(29) (Turn over)
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42.

43,
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i CHEMISTRY
3 : 3
} ' 45 The d-orbital that participates in dsp
The number ;:if lunpaired electrons st bion it rigonal bipyramikial
presentinCr™ is: geometry is
(A) 1 @A) dz’
® 2 ®) oy
C) 3 ©) d-y’
(D) 4 (D) oz
46. lce floats in water. This is due to the
The set of quantum numbers (n, £, m presence of :
and s) that represent valency electron (A) lonicbond
of SO IS (B) Covalentbond
(A) 3,21+ 3 (C) Intermolecular hydrogen bond
(B) 3,2,0,+ % " (D) Intra molecular hydrogen bond
) 3.1,1.-% 47. 100 mlof 1 N NaOH solution, 200m!
(D) 3,0,0, +3 of 0.5 N NaOH solution, 500 ml of
0.1 N NaOH solution and 200 ml of
The correct order of electron affinity 0.25 N NaOH solution are mixed
of the following elements is - together. The normality of the result-
(A) N<O<F<Cf ant solution is :
(B) O<N<Ct<F (A) 01
(C) N<Cf<O<F (B) 02
(D) N<Q<Ci<F (€ 03
(D) 04
Theco ionisati -
o ft;re;:t Icnrdej-rof lonlsatlon‘pc.nten 48. The pH of 0.01 M acetic acid it
1al of the following elements is : degree of dissociation 0.001 is -
(A) C<N<O<F :
5 (A) 5 4
(B) C>N>0>F ®) 4
(C) C<O<N<F © 3
(D) C<0<.F<|\‘|_ D) 2
1D/100 (30)

(Continued )
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49,

50.

51.

52.

JP ~1D/100

If Kf and Kb represents the equilib-
rium constants of the forward and
backward chemical reactions re-
spectively of a particular reversible

reaction then :
(A) K =K
B) K= K
C) K >K
(D) K, <K

The purest form of iron is :
(A) Pigiron

(B) Steel

(C) Wroughtiron

(D) Castiron

Which of the following ores does not
contain sulphur ?

(A) Argentite

(B) Cassiterite

(C) Cinnabar

(D) Galena

The most stable carbanion among

the following is :
<)
CH2- CH2
(A)

(31)

93.

-

nnnnnnnn

©
CH,
° )
(o)
CH,
(€)
OCH,
e
CH,
(D)
NO,
The [UPAC name of the
compound having the formula
OHs
CHS_?“ CH=CH2 is
CH,

(A) 3,3, 3trimethyl propane
(B) 1,1, 1trimethyl-2-pentene
(C) 3,3 Dimethyl-1-butene
(D) 2,2 Dimethyl 3-butene

The hydrocarbon which is formed by
only single covalent bonds between

the atomsis :
A) CHy
(B) CGHB
(C) C 5HB
(D) C,H,

( Turn over )
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55. The correct order in which the
following compounds are arranged in
order of increasing acidity is :

(A) Methyl alcohol ( Phenol (
p-nitro phenol

(B) Methyl alcohol (p-nitrophenol
phenol

(C) p-Nitrophenol (Methyl alcohol
{ phenol

(D) Phenol ( Methyl alcohol {

p-nitrophenol
56. Oxidation number of sulphur in
sodium tetrathionate is :
(A) +2
(B) +25
(C) +3
(D) +6
57. Ifthe molecularweight of KMnO 4 is

‘M’ then the equivalent weight of
KMnO 4 in the reaction :

KMnO, +H ,80,+ H,C,0,

—K,80,+MnSO, +CO, + H,Ois:

(A)

w[Z oK

(®)

JP - 1DH00 NS e e

58.

59.

60.

<
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(C)

i »=Z

(D)

Thevo
by complete decomposition of 1gm

lume of 002 at NTP obtained

of marble is

(A) 224L

(B) 2.24L

(C) 0.224L

(D) 0.0224 L

The density of a gas is found to be
1.56 gllitre at 745 mm pressure
and 65°C. The molecular mass
(g.mol™ 1) is :

(A) 22.1

(B) 44.2

(C) 66.3

(D) 884

If rate of diffusion of O2 is r, then
under similar conditions of tempera-

ture and pressure the rate of diffusion

of SO2 is :

A) 2

|®) ‘L
V2

(C) 2['1

© 2
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[B— SECTION —IIl
SCIENCE (CBZ)
BOTANY

61. Which hormone does help in fruit 64.
rpening ?
(A) Auxin
(B) Cytokinin
(C) Florigen
(D) Ethylene
62. Which is the chemical name of 65.
naturally occurring auxins ?
(A) IPA
(B) IAA
(C) IBA
(D) PAC
63. A technique in which part from one 66.

plant scion is attached to root stock

called :

(A) Budding
(B) Cutting
(C) Layering

(D) Grafting

JP - 1D/M00 0 488)

Which pair does not show vegetative
propagation in plants ?

(A) Dahlia-fasciculated roots

(B) Saccharomyces-budding

(C) Bryophyllum-foliar buds

(D) Ginger-rhizome

Which one does develop into fruit
after fertilization ?

(A) Ovary

(B) Owule

(C) Zoospore

(D) Pedicel

In which process does the stock plant
multiply to form large number of

progenics ?
(A) Protoplast fusion
(B) Hybridization

(C) Micropropagation
(D) Conjugation

( Turn over)
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67.

68.

69

70.

JP-

1D/100

When the life cycle of a pathogen IS

completed on two hosts, it is called

(A) Autoecious

(B) Autotrophic
(C) Heterotrophic

(D) Heteroecious

Which was the first effective fungicide
discovered 7

(A) Burgundy mixture

(B) Bordeaux mixture

(C) Zineb

(D) Maneb

When single gene controls more than
one trait, it is called |

(A) Plettropism

(B) Multiple allelism

(C) Polygenic

(D) Co-dominance

The number of genotypes produced
in F, generation of Mendel's Mono-
hybrid cross is:

A 1 |

S (34

71.

72

73

osSTET - P18
SET-D

B 2
(C) 3
(D) 4

Which are called vascular crypto-

gams ?

(A) Bryophytes

(B) Pteridophytes
(C) Gymnosperms

(D) Angiosperms

Who did propose Natural System of
classification 7

(A) Bentham and Hooker
(B) Engler and Prantl
(C) Linnaeus

(D) Hutchinson

To which family do pulses belong ?
(A) Solanaceae

(B) Poaceae

(C) Liliaceae

(D) Fabaceae

(Continued )
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75.

76.

77.

P~

Which is the first ‘National Park’ in
India ?

(A)  Simlipal
(B) Bhitar Kanika
(C) Manas

(D) Corbett

Which is the equivalent term for
epiblema of roots ?

(A)
(B)
(C)

(D)

Pericycle
Cortex
Epidermis

Endodermis

A piece of wood with no trachea must

belong to:
(A)
(B)
(C)
(D)

Teak
Pine
Palm

Sisso00

Which are the parts of ground tissue

system 7
(A)
(B)

Cuticle, stomata and epidermis

Hypodermis, general cortex

and endodermis
(€)
(D)

Xylem, phloem and pith
Pericycle, pith and medullary

rays

10/100

78.

(38) -

79.

80.

OSSTE Temtie-/18

([ SET-D ;

Which enzyme is not found in C,

plants ?
(A) RUBP Carboxylase
(B) PEP Carboxylase
(C) NADP Reductase

(D) ATP Synthase

The correct order of flow of electrons
in the light reaction is :

(A PS I, Plastoquinone, Cyto-

chrome. PS1 & Ferredoxin
(B) PS |, Plastoquinone, Cyto-
chrome, PS Il & Ferrodoxin
(C) Cytochromes, PS |, Plasto-
quinone, PS 11 & Ferredoxin
(D) PS |, Plastoquinone, Cyto-
chromes, PS Il & Ferredoxin
What is the metal ion constituent of
chlorophyll ?
(A) lron
(B) Copper
(C) Magnesium

(D) Lead

(Turn over)
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(B — SECTION —lii
SCIENCE (CBZ)
| ZOOLOGY
. . Reserves
81. The phenomenon of “Industrial (B) Biosphere
Melanism” demonstrates : (C) Cryopresewat'on
(A) Natural Selection (D) National Parks
(B) Induced Mutation 85. A person who is on a long hunger
(C) Reproductive Isolation strike and is surviving only on water,
(D) Geographical Isolation will have
(A) Lessamino acid in his urine
82. Who proposed the mutation theory
More glucose in his blood
ini ; : (B) g
explaining organic evolution ?
: (C) Less ureain his urine
(A) Louis Pasteur
(D) More sodium in his urine
(B) Hugo de Vries
(C) E.Darwin 86. What is the location of the
(D) W.Harrey respiratory centre, which regulates
| respiration ?
0,
83. Who gave the 10% law for energy (A) Medulla Oblongata
transfer in food chains ?
ansfer in food chains (B) Cerebral Pedundle
W) Saniay (C) Vagus Nerve
%) Ty (D) Cerebellum
(C) Lindemann
87. In anaerobic respiration -
(D) Weismann _
(A) 0, istaken in
84. Which is the ex-situ conservation (B) C(:):2 is taken in
method for endangered species ? (C) 0, is given out
(A)  Wildlife Sanctuaries (D) €O, is given out
JP -1 ‘
D/100 (36)
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88. Which of the following has the

89.

90.

thickest walls 7

(A)
(B)
(C)

(D)

Right ventricle
Left ventricle
Right auricle

Left auricle

All arteries carry oxygenated blood

except :

(A)
(B)
(C)

(D)

Hepatic
Systemic
Cardiac

Pulmonary

Human kidneys serve to excrete ..

(A)

(B)

(©)

©)

Excess water, urea and amino
acids

Excess salts, urea and excess
water

Excess salts, excess water and
excess amino acids

Excess salts, urea and fatty

acids

JP - 1D/100
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91.

92,

93.

-
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A man has taken a large amount of
protein in his diet. He will excrete

more of :

(A) Urea

(B) Uric acid
(C) Sugar

(D) Salts and sugar

When the direction of the nerve
impulse is reversed, the condition is

called :
(A) Axo-axentic
(B) Axo-dendrite

(C) Axo-axen-dendrite

(D) None of these

Arbor vitae is composed of :
(A) Graymatter

(B) White matter

(C) Neuroglia cells

(D) Pons varolii

( Turn over)
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04. Generally, fertilisation of ovum in (C) Diosomeé

humans takes place in : D) Amphi astral

(A) Fallopian tube organelle is enclosed by

98. Which cell
(B) Ovary P
a single membrane
(C) Cervix
roplast
(D) Uterus (A) Chlorop

osome
95. In an egg, the type of cleavage is (B) Lys

determined by : (C) Nucleus
(A) Size and location of nucleus (D) Mitochondria
(B) Shape and size of the sperm

99. In gene mutation, adenine is

(C) Amountand distribution of yolk .
replaced by guanine, itis :
(D) Number of egg membranes

(A) Frame shift mutation
96. What is the basis of five kingdom

system of classification suggested (B) Transcription

by R. H. Whittakar ? (C) Transition

(A) Presence or absence of a well (D) Transversion

defined nucleus

100. Foetal s .
(B) Mode of reproduction ex can be determined by

(€) Mode of nutrition examining cells from amniotic fluid

) looki .
(D) Complexity of body organisation Ing for:

" [ A Kine-
97. What is called a pair of centrioles (A) tochore

lying together ? (B) Chiasmata
(A) Polyteny (C) Chromosomes
(B) Anastral (D) Barr bodies

ap-1DH0L - % o
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C — SECTION — |V |

(Y

CHILD DEVLOPMENT, PEDAGOGY
SCHOOL MANAGEMENT & EVALUATION

101. What type of questions are asked at
the last step of teaching in a period ?
(A)  Placement
(B) Diagnostic
@D 'Summative
(Dj Formative

102. Which one is not a tool of observation ?
(A)  Anecdotal Record
@ Achievement Test
(G) Rating scale
(D) Check-list

103. Inwhich the child is not active ?

(A)" ) Teacher's class-room demon-
stration

(B) Home task done, given by the
teacher

(C) Practising the exercise of the
text book

(D) Extensive study of the text book
and work book

104. What type of motivation is status of
the individual ?

'l/r{u'insic

(B) Extrinsic \
(C) Natural

(D) Conditional

JP -1D/100

(73)

105. Blue-print is used in preparing the
question paper, because

(A) Questions become easy and

simple
(f éD Different types of questions find
" their places A

(C) Subjectivity in evaluation is
reduced

(D) The evaluation becomes easy
and error-free

106. Which is not related to child-centred
education ?

(A)~ Teacher acts as a facilitator of
learning

(B) ) Teacher teaches through
question-answer method

(C) The child is the centre of
learning

(D) Learning is based on child's
experience

107. According to Guilford's intelligence
model which is not included in the
mental process ?

(A) Evaluation

Synthesis
(C)—Divergent thinking
(D) Convergent thinking

( Tum over)
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108. In a motivated learning situation the

learner:

QA‘;) Becomes interested to ask
= questions

(B) Memorizes the lessons by
cramming
(C) Prepares himselffor examination

(D) His memorization and forgetting

becomes equal

109. When did multilingual education
starts in our state ?
(AY” 2005 — 2006
(B) 2006 - 2007
(C) ) 2007 — 2008
(D) 2008 -2009
110. Who defined “social development

means the attaining of maturity in
social setting” ?

( Crow and Crow

E.B.Hurlock |

(C) James Drever
(D) Freeman and Sawel
111. At what stage the child entérs the
peak of “gang age” ?
(A) 4-5years of age
(B) 6-8years ofﬁaé
@ " — 12 years of age
(DY 13-15 years of age

112. Whois the founder of functionalism 7

William James

(B) W.B.Watson

JP -~ 1D/100
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" (C) Sigmund Freud
(D)~ John Dewey
113. Who viewed that :
Growth refers to structural and
physiological changes and develop-
ment is concerned with growth as

well as those changes in behaviour
that results from environmental

situations.”
@ Crow and Crow

(B)~Skinner \
(C) Arnold Gessel

(D) E.B. Hurlock
114. Which is more important in
development ?
(A) Physical changes
(B) Changes in nervous system

(C) Maturation
@ All of the above

115. From which stages does the
deelopment of the child begins ?

Pre-natal =~

(B) Post-natal
(C) Infancy '
(D) Childhood
116. Atwhat stage a child begins to think
logically according to Piaget ?
(A) Sensory motor stage
(B) Pre-operational stage

(C) Concrete operationa stage '

ormal Operational stage
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7. Transmission of genetic characteristics
from parents to offspring is called :
(A) Learning
(B) Maturation
() )Heredity

(D) None of the above

118. Which of the following statement is
not correct ?

(A)  Growth is quantitative

(B) Development follows an orderly
sequence i

(C) Development is qualitative

(BD Both growth and development

is quantitative and qualitative

119. The development proceeding in the
direction of longitudinal axis (Head
to Foot) is called as :

@/ Cephalo-caudal tendency of

development

(B) Proximodistal tendengy of
development

(C) Spiraltendency of development
(D) None of the above

120. Which of the following cognitive
constructivism does not depend on ?

Experience of the child

(B)—Tnquisitiveness of the child
(C) Environmentofthe chijd

(D) Concept of the child

JP -~ 1D/100

(79)
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121. Which is not correct ?

(A) Development is a life-long

(C)
(D)

process
Development always takes
place uniformily

Development is individualistic {

Development does not stop at
maturation

122. Which of the following is not a

continuous process ?

(B)
(C)
(D)

Motivation

Learning . P
Development
Growth

Which one of the following is not
related to child-centred teaching and
learning ?

(A)
(B)

()

Emphasis on leaming experience
Emphasis on holistic develop-
ment

Emphasis on self-learning

Emphasis on class-room
teaching

124. Which learning is not dependent on

motor skill ?

(A)

Drawing

@ Singing
(G} Cycling

(D)

Type-writting

125. Which factorinfluences development

of the child ?

(A)
(B)

Heredity only
Environment only

@ Both heredity and environment

(D)

Maturity

(Turmover)
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126. Which one is not an example of
extrinsic motivation 7

(A) Praise

(B) Prze

(C)  Recognition
@ Interest '

127. What type of evaluation should
be done to know if a child is fit for
admission into Class VIII ?

@ Placement
(B) Formative
(C) Diagnostic
(D)  Summative

128. What language should the teacher
use while teaching scheduled tribe
students so as to meet their language
problems ?

(A Pupil's spoken language

(B) Standard language

(C) Book language \

Both book and spoken lan-
guage

129. A blue-print consists of three
dimensions, what are they ?

a)

Weightage to learning

objectives
(i)  Weightage to form of
questions
(iif) Weightage to content
(B) () Weightage to content
(ii) Weighta‘ge to learning
objectives

P00, T (76)
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C (i) Weightage to teaching
mids

(C) (i)  Weightage to teaching

s
(1) Weightage to form of
queshons

(i) Weightage to learning

objectives
(D) () Weightage to form of
questions
(i)  Weightage to teaching
aids

(i) Weightage to content

130. Which is not a recognition type test ?

o S |
( (A)jSentence completion
(B)-— True-false

(C) Matching
(D)  Multiple choice

’

131. Whatis called pedagogy ?

@ Science of Teaching

(B) Science of Educational
Planning
(C) Science of Learning |
(D) Science of Educational Testing
132. Which quality is not found in a good
test ?

(AN alidity
(B) Reliability
(C) Usability

Iexibility

I P rmilia o s

e P Al ,
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133. Which is not related with the
objectives of motives ?

(A) Toenergise the behaviour
@' To stabilise the behaviour
(C) Tostimulate the behaviour \
(D) To activate the behaviour
134. Which of the following is both qualita-

tive and quantitative ?

(A) Study

(BY Experimentation

(C) )Evaluation

(D) Observation

135. In what type of questions the possi-
bility of guessing is least ?
(A) Completion type
(B) Yes/Notype questions

@ Four-option type

(D) Answering in a single sentence

136. Which method of evaluation is effective
for assessment of both curricular and
cocurricular achievements ?

(A) Formative
Comprehensive
(Cy~ Aptitude
(D) Diagnostic

137. Which one is teacher-centred
teaching-learning process ?
Teacher works as a facilitator
of learning
(B) Teacher explains with th; help
of teaching learning materials
(C) Teachersupervises the leaming
activities

JP - 1D/100

(77)
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(D) Teacher helps the learner to

gather experience

138 Conventional level of moral

development viewed by Kohlberg

comes under .
(A) Stage 1 and Stage 2
Q@tage and Staged4 A
(C_) Stage 5 and Stage 6
(D) None of the above

139. “Intelligence is a general capacity of
an individual, consciously to adjust

his thinking to new situation.” Who
had given this definition ?

(A) Binet
(B) Freeman
(Gy~ Piaget

Stern

140. Who was the propounder of Group
factor or Anarchic theory of intelli-
gence ?

(A) Spearman
(B) Thompscn
(C) Guilford )

@‘r humstone

141. Alfred Binet belongs to which
country ?

rance

(B) Russia
(C) America
(D)~ German

(Turn over)
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142 Name the first psychologist who
defined the "Mental Age” ?
FD Alfred Binet
(B)J C. M Fleming
(C) J.P. Guilford
(D) L.L Thurstone

143 What does Intellingence Quotient
(I Q.) of a child signify ?
(A) MentalAge
(B) Chronological Age

(C) Mental Age + Chronological
Age and then multiplied by 100

Mental Age divided by
chronological age and then
mutliplied by 100

144 “Adolescence is a period of “stress
and strain”, "storm and strike”, which
educationalist suggested this
statement ?

(A)//Jean Piaget
@D G H.Hil
(C) AT Jerslid
(D) E.A. Peel

145. Social changes during adolescence
include

Ault like behaviour
(BY” Imagination
(C) Restlessness
(D) Fearand shame

146. Who defined “Learning to be a
change in behaviour as a result of

experience” ?
@ ron bach .

SET-D
(B) J.F. Travers
(C) Colvin |
(D)~ Kimble
¥
realise

147. The desire for self-fulfimentto

one's own potentialities comes

under:

(A) Physiologicalneeds
(B) - Safety needs

(C) Self-esteem

) o

(D) Self-actualisation

\

148. Teacher's nods and smiles comes
under:
@ ositive Non-verbal Reinforce-

ment

A
(B)  Positive Verbal Reinforcement !
(C) Negative Verbal Reinforcement

(D) Negative Non-verbal reinforce-
ment

149. The process of establishing a new
fact from a given facts is known as :

(AY" Deduction
(B).. Induction
@Analog

(D) Imagery

150. Ifatest gives the same results when-
ever it is repeated, it is called as :

(A Validity
(B) Usability \
(€D Reliabilty

(D) Predictal:gilty
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